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1) TRADE THEORY

Question No. 1/ Question ID 95 Marks: 2.00

What is the effect of inductance if the distance between the turns increases?
e GATAl & &1 B gXl 96 Sfdll ¢ ol IRabed BT T THIG RTT?
(A) O Remains same

HHAH
(B) O Increases (Chosen Option)

eS| (Chosen Option)
(C) O Becomes zero

T B S R
(D) O Decreases (Correct Alternative) GlOb al lTl

(Correct Alternative)

Question No. 2 / Question ID 44 Marks: 2.00
Which type of joint is used in over head lines for high tensile strength?
I I Wfed & T 3R 88 @rsl H {5 UpR & Siig &1 IuanT faean Sirdr 872
(A) O Marriec\jljoint
SIERS
(B) O Western union joint (Correct Alternative) (Chosen Option)
\_rl'\llg? (Correct Alternative) (Chosen Option)

(C) O Rat-tail joint

Yeca ST
(D) O Scarfed joint

SlERd

Question No. 3 / Question ID 249 Marks: 2.00
What is the name of the diagram as shown in the figure?

o o guITE 7TU 3T &1 19 1 872




~FmE

ELNTTIE

~FmE

Global iTi

Bl

(A) O Layout plan
ST

(B) O Wiring diagram
CIRIRUREIRSC]

(C) O Schematic diagram

(D) O Installation plan (Correct Alternative) (Chosen Option)
TITYAT TS (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 285 Marks: 2.00
Where the Iron Clad Double Pole (ICDP) main switch is used?
ICDP T Rga &1 IUdIT Fal foar ST g2
(A) O Large industrial installations
RITYAT
(B) O Single phase domestic installations (Correct Alternative) (Chosen Option)
Udhd Lo ‘EﬁT‘LWTIFIT (Correct Alternative) (Chosen Option)
(C) O Three phase power circuit installations
Tl Tt IRTY RATTAT

(D) O Large commercial installations

EIRIE]

Question No. 5/ Question ID 76 Marks: 2.00
What is the formula for the equivalent resistance (Ry) of the three resistors R4, Ry & R3 are connected in
parallel?

TR H S i ufaRigs! Ry, R,y 3R Ry & TATe™ UfoRIY (Ry) T G T 87




(A) O Ay Aoy i
Ry = = TR. Tr_|(Correct Alternative)
f =l g
o A A3 :
T R, 'Rz R, (Correct Alternative)

(B) O Rr=Ry+Ry+Rj
Rr=Ry+Ry+R3
(©) O e 1
Ri-Fo-Fy

_ 1
R

D
PO r-r T+ (Chosen Option)

—_——t—

=T 1.1 (Chosen Option)

—_— e —

Question No. 6 / Question ID 45
What is the unit for Quantity of electricity?
faqgd 1 A BT gPTE HT 82
(A) O Ampere / second
Ampere / second

(B) O Volt/second
Volt / second

(C) O Coulomb (Correct Alternative) (Chosen Option)
Coulomb (Correct Alternative) (Chosen Option)
(D) O Mho
Mho

Global iTi

Question No. 7 / Question ID 218
Which part is losing its weight during the electrolysis?
AT & SR DI IT HFT U goi HH HR 6T 82
(A) O Separator
ICEIEEY
(B) O Anode (Correct Alternative)
(Correct Alternative)
(C) O Electrolyte
fdqgd smeey
(D) O Cathode (Chosen Option)
S (Chosen Option)

Marks: 2.00

Question No. 8 / Question ID 104

Marks: 2.00

When the no current will flow through the galvanometer in the wheat stone bridge?

e TH fost § ea-niiex ¥ fagga urT &d yarfed gt
(A) O In short- circuited condition

qIé-afdbe fufa o
(B) O In open- circuited condition

3Ny-wfde fRufa &




(C) O Inunbalanced condition
3reqferd fufa o

(D) O In balanced condition (Correct Alternative) (Chosen Option)
'\‘I—g[m Rufa# (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 164
Which conductors are used for the over head distribution lines?
IR 58 [T Al & AW DIF ¥ Hedex &1 SUAN 61 AT 872
(A) O Bare conductors (Correct Alternative) (Chosen Option)
IUR HSFEX (Correct Alternative) (Chosen Option)
(B) O Insulated solid conductors
YIS Tilas dredex

(C) O Two core cable

(D) O Insulated conductors

Question No. 10 / Question ID 297

Which is employed in circuit breaker for the thermal over load protection?
YU SR IS YREM & oY Flidhe sax | faan! IuanT foram Srdm g7
(A) O No volt coll

P1g Al Hed ol
(B) O Bimetallic strip (Correct Alternative)

%‘d’fﬁ 1'[?[ (Correct Alternative)
(C) O Magnetic repulsion (Chosen Option)

' (Chosen Option)

(D) O Mechanical vibration

FifAdh HuA

Marks: 2.00

Global iTi

Question No. 11 / Question ID 364
Which is the position to use the instrument provided with gravity control?

TEQAIHYUT U & 1Y UeH BT T ISR BT ITART - B1 fUfd B It 82

(A) O Horizontal position
Rufd

(B) O Vertical position (Correct Alternative) (Chosen Option)
Seafer fRufa (Correct Alternative) (Chosen Option)
(C) O Any position
Rufar &
(D) O Inclined position

O

Marks: 2.00

Question No. 12 / Question ID 170
Calculate the electrical energy in unit consumed by 500W lamp for 5 hours.
500W o GRT 5 e T GUd b1 T8 fAqgd SHoll bl gepTs H UM bR |
(A) O 1.5unit
1.5 unit
(B) O 2.5 unit (Correct Alternative) (Chosen Option)
2.5 unit (Correct Alternative) (Chosen Option)

(C) O 1.0 unit
1.0 unit

Marks: 2.00




(D) O 0.5 unit
0.5 unit

Question No. 13 / Question ID 419
How to determine the core loss in a transformer?
SIHIAR | HR A &1 YR Y B2
(A) O By ratio test
3T URI&T0T IR
(B) O By impulse test (Chosen Option)
3{TRT URI&0T GRT (Chosen Option)
(C) O By short circuit test
TI1E Al TRI&0T R
(D) O By open circuit test (Correct Alternative)
Tfdhe e grI (Correct Alternative)

Question No. 14 / Question ID 355
What is the name of meter as shown in the figure?

ﬁaﬁﬁ@mwﬁamww%’?

ELMY1ME10E

ELMY1ME0E

(A) O AC and DC multirange voltmeter (Correct Alternative)
AC 3R DC AW NS dlecHIex (Correct Alternative)

Marks: 2.00

=

Global iTi




(B) O AC multirange ammeter
AC HedRel THIR

(C) O DC multirange voltmeter (Chosen Option)
DC A RS diecHIey (Chosen Option)

(D) O AC and DC multirange ammeter
AC 3R DC Heeel THIeR

Question No. 15/ Question ID 262
What is an application of ‘L’ series type MCB’s?

L' Sl THR & MCB T Sy T 872
(A) O Haloge%l;lmps

(B) O Air conditioners

(C) O Geysers (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) © Locomotives

Marks: 2.00

Global iTi

Question No. 16 / Question ID 17
Which type of fire extinguisher is used for fire on electrical equipment?
d SUBRUN T T T WR 59 UHR & SRS 37 1 U fobdt ST g2
(A) O Gas cartridge water type
PIicol ol UhR
(B) O Foam type
hIH UPR
(C) O Stored pressure water type
' Gdd 9d UPR
(D) O Halon type (Correct Alternative) (Chosen Option)
< UPR (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 181
Which 3 phase system requires the artificial neutral to measure the phase voltage?
D1 It 3 Trot urTeRt § e dleesl ! AU & oW HHEH Yo HI aRgdwdT giat 872
(A) O 3 wire delta connected system (Correct Alternative) (Chosen Option)
3 IR Seel "aiferd e (Correct Alternative) (Chosen Option)
(B) O 3 wire star connected system
3 R ¥R Haiferd Ren
(C) O 4 wire star connected system

4 IR TR 4o e

(D) O Scott connected system
Whic Hacs ReH

Marks: 2.00

Question No. 18 / Question ID 431
Which material is used to make the core of power transformer?
UTaR TRBIR &1 HR §1H & o8 ford TnTlt &1 IuanT forar Srr 87

(A) O Hot rolled steel
T s Wi

Marks: 2.00




(B) O Copper alloy
GIEIEERIG!

(C) O Softiron
Y el

(D) O Cold rolled grain oriented steel (Correct Alternative) (Chosen Option)

ST TS 3T 3499 wa (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 82
Which is an application of the series circuit?
IR wfdhe &1 a1 39T 52
(A) O Lighting circuits in home
TR T arsfeT fdhe
(B) O Voltmeter connection
dlecHIeR BRI
(C) © Shunt resistor in ammeter
e # =i IR
(D) O Multiplier resistor of a voltmeter (Correct Alternative) (Chosen C

AiecHIeT BT Hed IR iRy (Correct Alternative) (Chosen Opt

Question No. 20 / Question ID 51
What is the advantage of the stranded conductor over the solid conductor?
31 1A B gaT H dq aTeTe &l a1 Y 872
(A) O Less voltage drop
HH dleco] §IH
(B) O Costis less
AT HH §
(C) O More insulation resistance
3P S UfaRiY
(D) O More flexible (Correct Alternative) (Chosen Option)
3rferep a=itel (Correct Alternative) (Chosen Option)

Marks: 2.00

Global iTi

Question No. 21 / Question ID 168
What is the standard frequency of AC supply in India?
HRd H AC 3MMfd &) A Mgy Fam 82
(A) O 75Hz
75 Hz
(B) O 25Hz
25 Hz

(C) O 50 Hz (Correct Alternative) (Chosen Option)
50 Hz (Correct Alternative) (Chosen Option)

(D) O 60 Hz
60 Hz

Marks: 2.00

Question No. 22 / Question ID 316
Why the system earthing is different from the equipment earthing?

Rreew aiftf, Iueor iffr I o/ =i 82

(A) O Itis associated with non- current carrylng conductors (Chosen Option)

g IR-YRT Yalfed HA a1d dhede’l A JT 8 (Chosen Option)
(B) O It protects human only
I8 HId AW B & HIA1 &

Marks: 2.00




(C) O Itis associated with current carrying conductors (Correct Alternative)

g YRT 6P ITaD| J JHfUd % (Correct Alternative)
(D) O It protects equipment only
g Had SUBRUN B YRET BT §

Question No. 23 / Question ID 111
What is the voltage drop in resistor ‘R,’ in the series circuit?

ORI Ffdhe ¥ UfeRiye 'R, H dlces ST 1 87

(A) O 20 Volt
20 Volt
(B) O 10 Volt (Correct Alternative) (Chosen Option)
10 Volt (Correct Alternative) (Chosen Option)
(C) O 15 Volt
15 Volt

(D) O 5 Volt
5 Volt

Marks: 2.00

Global iTi

Question No. 24 / Question ID 211
Which device converts the sunlight into electrical energy?
P T SUBRON G & U B faggd Sorl § gRafdd HRal g2
(A) O Light emitting diode
NIECAYEIRURSIEIS]
(B) O Liquid crystal diode
INIEESAERSNISIRIS]
(C) O Light dependent resistor
arge feuge W
(D) O Photo voltaic cell (Correct Alternative) (Chosen Option)
Bicl ﬁéﬁ I (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 25 / Question ID 210
Which apparatus is used to check the charging condition of the battery?

S} B ol AT o1 ST B3 & fow [T IuH01 1 ITANT fhar S7dT 82
(A) O Voltmeter
JieeHIeR

(B) O High rate discharge tester (Correct Alternative) (Chosen Option)
I & fFARawF e (Correct Alternative) (Chosen Option)

Marks: 2.00




(C) O Hydrometer

(D) O Multimeter

Question No. 26 / Question ID 382
Which electrical quantity is unable to measure directly by the multimeter?
DI It fagga 0 AeciHieR gRT WY Arom & rqae g2
(A) O AC voltage
AC dlees
(B) O Power (Correct Alternative) (Chosen Option)
UTdR (Correct Alternative) (Chosen Option)
(C) O DC voltage
DC diecdl
(D) O Resistance
gicRlY

Question No. 27 / Question ID 440
Which is the indication of a moisture contained transformer oil is placed in th
Shehd TRIGUN H T god CIABIER o &1 - 41 Hobd QAT STl 872
(A) O Acrackle sound is heard (Correct Alternative) (Chosen Option)
Udh FHY G ﬁ’l‘lﬁ ot % (Correct Alternative) (Chosen Option)
(B) © A humming noise is heard
TS TAATES &1 3MTaTSl TS ol §
(C) O Aflash over occurs
T TR 3R °fed gian @

(D) O Asizzle noise is heard

TS Ol SHTaTel AT oct §

Marks: 2.00

Global iTi

Question No. 28 / Question ID 94

Which factor changes the permeability of a material?

B U1 HRE [t uard & TRl &) seadl 32

(A) O Flux density (Correct Alternative) (Chosen Option)
T Y-cd (Correct Alternative) (Chosen Option)

(B) O %%h

(C) O Diameter
g™

(D) O Cross sectional area
CAR K CNE L RAP 1Y

Marks: 2.00

Question No. 29 / Question ID 196

Marks: 2.00

Which power measurement method is used for both balanced and unbalanced loads?

gferd SR sRigferd aFl URY & e o It wfda wg fafyy &1 It forar S g2

(A) O Voltmeter and Ammeter method
diecHieR 3R THieR fafy

(B) O Single wattmeter method (Chosen Option)
Uhd areHiex fafd (Chosen Option)




(C) O 2 wattmeter method (Correct Alternative)
2 qredtex fafr (Correct Alternative)

(D) O Energy meter method
St HieR fafdy

Question No. 30 / Question ID 305 Marks: 2.00
Where the service mains are to be connected in the domestic installation?
IUHIST A &1 | a1 GaIo STy fohd R 9§ ST 8t 872
(A) O Main switch

T g
(B) O Distribution board
ICRRUKIE]
(C) O Energy meter (Correct Alternative) (Chosen Option) r N

(Correct Alternative) (Chosen Option) _
‘%

(D) O IC cutout

hc AH3C
Question No. 31/ Question ID 290 Gl()b al iTi
What is the name of the wiring diagram?
TR SR PT HT 19 872

(A) O Staircase wiring (Correct Alternative) (Chosen Option)
?ﬂ'ﬁﬂ argfeaT (Correct Alternative) (Chosen Option)
(B) O Hostel wiring
RASNEIRINYI
(C) O Godown wiring
AT




(D) O Tunnel wiring
G araf

Question No. 32 / Question ID 81 Marks: 2.00
What is the Sl unit of resistivity?
UfaRIHdl BT S| IHTS T 82
(A) O ohm/ metre
ohm / metre

(B) O ohm/cm?

ohm / cm?

(C) O ohm/cm
ohm /cm

(D) O ohm - metre (Correct Alternative) (Chosen Option)
ohm - metre (Correct Alternative) (Chosen Option)

Question No. 33 / Question ID 312
What will happen to the value of earth resistance if length of the earth pipe is
gfe 3rf UT3y @1 dag §¢ Sl 3, Al 31 & UfaRIY & A T o1 gRTT? Global iTi
(A) O Infinity
Al
(B) O Remain same
A 3G
(C) O Increases

(D) O Decreases (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 34 / Question ID 394 Marks: 2.00
What is the function of the rotary switch in food mixer?
%8 R 7 et Raa &1 &l a1 82
(A) O For reverse rotation

fear JewH & fow
(B) O Over load protection (Chosen Option)
R AS gR&T (Chosen Option)
(C) O Speed selection (Correct Alternative)
UIGELE] (Correct Alternative)
(D) O Over current protection
TR

Question No. 35/ Question ID 33 Marks: 2.00
What is the unit of insulation resistance?

TIORA TRRIY P SHTS 37 82




(A) O Milli ohm
Milli ohm
(B) O Mega ohm (Correct Alternative) (Chosen Option)
Mega ohm (Correct Alternative) (Chosen Option)
(C) O Kilo ohm
Kilo ohm
(D) O Ohm
Ohm

Question No. 36 / Question ID 392
Which type of motor is used in the wet grinder?

i I9! A f5g YR BT Alex BT ST fohar Srar 82

(A) O Universal motor

(B) O Shaded pole motor
TISS Ul HIcY

(C) O Capacitor start induction run motor (Correct Alternative) (Chose
SSRM A Hiex (Correct Alternative) (Chosen Opti
(D) O Repulsion motor
BIRCALI

Marks: 2.00

Global iTi

Question No. 37 / Question ID 13
What is the name of the part marked ‘X’ as shown in the figure?

o o famme e fafed y &1 9\ @ g2

(A) O Point
(B) O Tang
Gl

(C) O Edge
o
(D) O Heel (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 38 / Question ID 329
Which wiring installation uses the system earthing?

P IT IR ST Red i &1 SuahT a1 82
(A) O Domestic wiring
R

(B) O Godown wiring
(C) O Substations (Correct Alternative) (Chosen Option)

p% (Correct Alternative) (Chosen Option)
(D) ©O Commercial wiring

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE




Question No. 1 / Question ID 461
Which is equal to sin6?

sin6 f5g & SR a1 82

(A) O _ _
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(B) O

(C)O

(D) O

Marks: 2.00

Global iTi

Question No. 2 / Question ID 447
What is the square root of 5297
529 BT 182
(A) O 43
43
(B) O 23 (Correct Alternative) (Chosen Option)
23 (Correct Alternative) (Chosen Option)

(€)O 33
33

D) O 13
13

Marks: 2.00

Question No. 3 / Question ID 442
What are the two classifications of system of units?
P! B YOS & &l YBR DI 57
(A) O Metric and International
AP 3R FexzHd
(B) O British and Metric
fofesr oiR e

(C) O Fundamental and derived (Correct Alternative) (Chosen Option)
Hifers 3k A (Correct Alternative) (Chosen Option)

(D) O Gravitational and non-gravitational

TSETHYT 3R IR-THATHYUT

Marks: 2.00

Question No. 4 /| Question ID 456

Marks: 2.00




What is the side of a square whose area is 625mm?2?
TH o o1 Yol 1 81T, ForaesT eawed 625 fidi2 g7
(A) O 20 mm

20 mm
B) O 15mm

15 mm
(C) O 30mm

30 mm

(D) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 443
What are fundamental units?
STH W Y $bI3El DIH-DIH! 82
(A) O Length, Mass, Volume

AaTs, GoTHM, ST
B) O Leng_th, Mass, Qrea

cldlg, *HHI, &AW ° °
(C) O Length, Mass, Time (Correct Alternative) (Chosen Option) GlObal lTl
, KHTA, HHY (Correct Alternative) (Chosen Option)

(D) O Length, Pressure, Volume
ddTs, &9, 3MAd-

Question No. 6 / Question ID 446 Marks: 2.00
Convert decimal 0.000659 to fraction?
0.000659 TRHAT fHF BT TIYRY fHF H S5
(A) O

(€) O

(D) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 470 Marks: 2.00




Identify the conventional symbol of material?

A &b URURS Udieh Bl Ugar?

Global iTi

(A) O Glass
CIE]

(B) O Wood
DBl
(C) O Concrete (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Steel
LUId

Question No. 2 / Question ID 468 Marks: 2.00
Identify the conventional symbol of material?

Irlt & URURS Udid &l Uga-?




Global iTi

(A) O Porcelain
oIl foedt

(B) O Steel (Correct Alternative) (Chosen Option)
SHId (Correct Alternative) (Chosen Option)

(C) O Lead

(D) O Glass
CIE]

Question No. 3 / Question ID 472 Marks: 2.00
Which drawing dimension is correct as per IS standard?

IS HHS & IUR I IT JIET W Tal 82




Global iTi




Global iTi

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 484 Marks: 2.00
Identify the line 'b'?
NIEGR AR RGN




Global iTi

(A) O Extension line
foreia s

(B) O Termination of dimension line

3T 3@ D FHTGT

(C) O Dimension line (Correct Alternative) (Chosen Option)
S{TATH ¥l (Correct Alternative) (Chosen Option)

(D) O Leader line
GISSGIER]

Question No. 5/ Question ID 471 Marks: 2.00
What is the trimmed size of A4 sheet?
A4 Tite o1 fem fbar garm SimeR @ 82
(A) O 594 x 841
594 x 841
(B) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)

(C)O 148 x210
148 x 210




(D) O 841x1189
841 x 1189

Question No. 6 / Question ID 469
|dentify the conventional symbol of material?

(A) O Wood
SCS|

(C) O Steel

LWId
(D) O C_oncrete

Irlt & URURS Udidh &l Uga-?

(B) O Glass (Correct Alternative) (Chosen Option)
&Id (Correct Alternative) (Chosen Option)

Marks: 2.00

Global iTi

4) EMPLOYABILITY SKILLS

Expansions of SMS is

Question No. 1/ Question ID 570

SMS &1 fasdR

(B) O Short Mail Service
Short Mail Service

g

(A) O Simple Message Service
Simple Message Service

(C) O Short Message Service (Correct Alternative) (Chosen Option)
Short Message Service (Correct Alternative) (Chosen Option)

(D) O Simple Memo Service
Simple Memo Service

Marks: 2.00

Values are
g ... |

Question No. 2 / Question ID 491

Marks: 2.00




(A) O very costly
§gd Bl

(B) O not punctual
A el

(C) O all have same value

T &1 I T §

(D) O Motivates our attitude and action (Correct Alternative) (Chosen Option)

E'Hﬁ' EHECaW 3R Wﬁ &1 U Har % (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 662
A wireless technology that connects a laptop to the internet is called

U IR deb-1d off dUcly Pl SexAc Y lisdl s Hgald ol

(A) O Desktop
S

(B) O Bluetooth

<Y
(C) O Source Network
I Aeadh

(D) O WiFi (Correct Alternative) (Chosen Option)
aTé - TFI€ (Correct Alternative) (Chosen Option)

Marks: 2.00

Global iTi

Question No. 4 / Question ID 569
Dedication to a particular work is called
fopit =i v 3 forg wwdior 1 T ST 8
(A) O integrity (Chosen Option)
3RgSdl (Chosen Option)
(B) O commitment (Correct Alternative)
Pitrede (Correct Alternative)
(C) O Intelligence

(D) O confidence
S AICE IR

Marks: 2.00

Question No. 5/ Question ID 626
In MS Excel, collection of work sheet is known as

O TRA H, 9% e & AU Bl ... FEAH TG |
(A) O excel book
TR §P
(B) O worksheet
CERIGS
(C) O sheet work
RiiCACEY
(D) O workbook (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 6 / Question ID 630
In which orientation, the text is printed width wise?

forg afifkuee (ififaam) #, ¢we (Ure) ASTE ar fie ([@fed) garg?

Marks: 2.00




(A) O Portrait
gice

~

(B) O Margin
BIICE|

(C) O Landscape (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Width

Question No. 7 / Question ID 518 Marks: 2.00
Fill in the blank with suitable place preposition. “My house is tl :
JUYad I Gaut & a1 Rad ®IF 41| “My house is the third
(A) O in

in
(B) O at
at
(C) O under

uneer Global iTi

(D) O on (Correct Alternative) (Chosen Option)
on (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 534 Marks: 2.00
Which one is NOT a benefit of the role playing?
AT AU &1 &9 91 a1y 8! 82
(A) O Develops creative problem-solving skill
TATHD JHT-THTH B bR T &
(B) O Develops listening skill
g &1 S [AH R Har g
(C) O Builds confidence
STAfIYT UaT HRefl 3
(D) O Develops boredom (Correct Alternative) (Chosen Option)
Sifvad a'q‘T Hdl % (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 649 Marks: 2.00
Which one is a search engine?

DI TH 9 gl 672

(A) O Face book

B) O H9tmai|

(C) O Flicker
IENER

(D) O Google (Correct Alternative) (Chosen Option)
T[ITd (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 532 Marks: 2.00
Which one is in passive voice?
fAfspg 3mars # o9 a1 87

(A) O Her birthday was celebrated by us. (Correct Alternative) (Chosen Option)
Her birthday was celebrated by us. (Correct Alternative) (Chosen Option)




(B) O I have seen that movie.
| have seen that movie.

(C) O Mohan is painting a house.
Mohan is painting a house.

(D) O She was reading a book.
She was reading a book.

Question No. 11 / Question ID 628 Marks: 2.00
In MS Paint, which extension is not supported
tpqq;Tfnfii'&ﬁt{%ﬂtﬁﬂﬁ%&Fﬁiﬁdﬁf(%ﬂqﬂﬁi'qéTEEQ?n?

(A) O .doc (Correct Alternative) (Chosen Option)
.doc (Correct Alternative) (Chosen Option)

(B) O .gif
.gif

(C) O .png
.png

(D) O .jpeg
Jpeg

Global iTi

Question No. 12 / Question ID 540

When is capital letter used?

IS &R BT YUNT B BT ST g2

(A) O Beginning of a sentence
T d1HI &l B3I

(B) O Names of persons
Hidl & |

(C) O Names of places
RJl &b AH

(D) O All the above (Correct Alternative) (Chosen Option)
T4 J FW (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 555 Marks: 2.00
An activity that stops or reduces stress is called a stress buster. Which of the following according to you is
not a stress buster?

TS TAfAfY S TG & Al § AT HH B § S W SR Bl offdl g | 3T AR fFgfafad # ¥ &F
Teh Y TR L1 82
(A) O Spending long hours thinking about the problem. (Correct Alternative)

W IHY 9P 99T & 9§ Jied eIl (Correct Alternative)
(B) O Gardening (Chosen Option)

(Chosen Option)

(C) O Listening to music.

e AT
(D) O Going to bed on time.

T IR foER ST

Question No. 14 / Question ID 631 Marks: 2.00
Spread sheets are saved with extension

TS AWM B ... T & 1Y 99 fHaT (Jeein) ST g |

(A) O .doc
.doc




(B) O .xIs (Correct Alternative) (Chosen Option)
Xls (Correct Alternative) (Chosen Option)
(C) O .pdf
.pdf

(D) O .mp3
.mp3

Question No. 15/ Question ID 543 Marks: 2.00
Choose the odd word.
odd (faH) Trsg T |
(A) O thanks
thanks

(B) O please
please

(C) O sorry
sorry

(D) O paper (Correct Alternative) (Chosen Option)
paper (Correct Alternative) (Chosen Option)

Global iTi

Question No. 16 / Question ID 700
Information like date of birth, permanent address form a part of one’s
o fafYy, wureft gar it S frogm o felt & o1 few gt ]
(A) O Personal details (Correct Alternative) (Chosen Option)
faazor (Correct Alternative) (Chosen Option)
(B) O Achievements
Sudieral
(C) O Career objectives

b el

(D) O AQualifications

Question No. 17 / Question ID 612 Marks: 2.00
PIN is
PINT ....|

(A) O Personal Identification Number (Correct Alternative) (Chosen Option)
Personal Identification Number (Correct Alternative) (Chosen Option)
(B) O Professional Identification Number
Professional Identification Number
(C) O Professional Income Number
Professional Income Number
(D) O Personal Income Number
Personal Income Number

Question No. 18 / Question ID 598 Marks: 2.00
A good way to respond to the question ‘Shall we start the discussion?’ is
Y BT TR o DI U 33T dRIPbT ‘Shall we start the discussion?” is
(A) O To conclude
To conclude

(B) O Yes, let’s start. (Correct Alternative) (Chosen Option)
Yes, let’s start. (Correct Alternative) (Chosen Option)




(C) O Tosumup
To sum up

(D) O But, don’t you think?
But, don’t you think?

Question No. 19 / Question ID 692 Marks: 2.00
It is also important to pay attention to customer's when probing.
Sid Bd G5 UTgdh &b TR & &1 ff 7agayui g
(A) O Personal needs

(B) O Friends
EE]
(C) O Body language (Correct Alternative) (Chosen Option)
@ HTT (Correct Alternative) (Chosen Option)
(D) O Dreams

'y
w

Question No. 20 / Question ID 685 1 T3
What does 'A' in SMART stand for? GlObal lTl
SMART # 'A' &1 37 314 82
(A) O Awareness

Awareness
(B) O Action
Action
(C) O Ambitious
Ambitious

(D) O Achievable (Correct Alternative) (Chosen Option)
Achievable (Correct Alternative) (Chosen Option)

Question No. 21 / Question ID 602 Marks: 2.00
Which of these is not an online job search platform?
290 ¥ B T 3Hd1s Slid I WehiH gl 872
(A) O Linkedin

(B) O Snapchat (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Glassdoor
TSR

(D) O Indeed

Question No. 22 / Question ID 486 Marks: 2.00
To be in a job or work is

THA A HHET GG ...
(A) O Employ (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Knowledge
sﬂ:{
(C) O Aptitude
g




(D) O Skill

Question No. 23 / Question ID 499
Time management

(A) O managing time
Uy IHY

(B) O hard skill
Hic BRI

(C) O problem solving
R DI G

(D) O complete your task on time (Correct Alternative) (Chosen Option
3T ST AT T GRT B (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 672
Money invested in purchasing of raw materials, payment of wages and salar
comes under

Hd AT B! WG, Aolgel 3R I, fevm, faetett snfe & fram & faw faran
(A) O -capital income

ST 3
(B) O working capital (Correct Alternative) (Chosen Option)

q‘y»ﬁ (Correct Alternative) (Chosen Option)

(C) O long term capital

didap1fere goft
(D) O fixed capital

ECRS

Marks: 2.00

Global iTi

Question No. 25 / Question ID 606
Someone is treated dlfferently on their skin colour, income

et BT T & T, 31T BT ABR A d(e;ﬁoqqsle%mwml%
(A) O nature

(B) O unity
Uohdl
(C) O correct

(D) O discrimination (Correct Alternative) (Chosen Option)
ﬁ'ﬂﬂ' (Correct Alternative) (Chosen Option)

Marks: 2.00




